: y=mx+c is the general equa- tion
: for a straight line graph. m is the gradient
of the line. Ccis the point where the line

intercepts the y axis.

The gradient of a line is calculated by draw-
ing a triangle on the line and dividing
change in y by the change in x.

Gradient of a Straight Line

N B,

' Change iny
R L AR
(%3, v2) / Niln

Changeinx -

), —» _ Changei
Gradient= 22721 _ Changeny
X,~X;  Changeinx

Parallel and perpendicular lines

: Parallel lines have the / /
| same gradient but a differ- . / /

' ent value for c as they will
1
i be crossing the y axis in a /

|
1 different place.

erpendicular lines -

P
have reciprocal gra-
dients. B =
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Plotting Quadratic Graphs

Topic title: Graphs :

Plot the graph of: y = x? + x
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2) Complete each row.
3) Totalthe columns

1) Splitthe equationinto separate terms in the table.

4)  Use the x value with the y value as coordinates.

w o
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Quadratic Graphs

A quadratic graph has a U or upside down

U shape. There is one turning point in the A cubic graph is an S

shape. It has two turning
points.

graph. It will always contain an x* term in

the equation of the graph.

A cubic graph contains

To plot a quadratic graph substitute in at s
an x” term.

least 5 values for x to generate y coordi-

www.snatyzemath.com

nates then plot.

A reciprocal graph
never touches zero.

Equations of recip-
rocal graphs are in
the form y=1/x

o 1 2 3 4 5

1
1
|
1
1
1
1
1
|
1
1
1
1
1
|
1
1
1
: Reciprocal Graphs
|
1
1
1
1
1
|
1
1
1
1
1
|
1
1
1
1
1

Graphs can be used to represent a wide varie-
ty of situations.

TITTTTTTITTITT
1 Eating a bar of chocolate ——

LN RE BB BN
Timg

Al Mo rrash doses The bae of chocslane weigh?

b Heow rrth dor the chotolite weigh after S secands

€] o bong does It Rakbe She for the chacslate bar b be eaten?
) What s happesing between 8 ad B uscondi}

I TTTTTTTTTTT
14 Usain Bolts Race 1

Digtance
(metres) - 1 L

o

a4ttt te e

Time:
a1 Haow Tar baa e ran after 4.5 seoonds 7



